BLACK HORSE
OFF ROAD

INSTALLATION INSTRUCTIONS

PART # BBNIJUA / BBNIJUSS
2011-2015 NISSAN JUKE BULL BAR
NO SKID PLATE



(ATTENTION

INSTALLATION INSTRUCTION
IT=M NO: BBNIJUA

1. Please read this ins:allation instruction before installing this part.

When install it,pleass

2. ¥hen you use it,pleass

MCNTh oY +wo mon=h.

pay attention to protecting your vehicles.

check this paris a2t a fix time-lapse, such as one

r_o Namé Pheto ty Remarks| No Name Fhoto Qty Remarksﬂ
Grille Guard ! 7 Sclt 4 M12X30
_ Laterai .
Mount Bracket ) swanetl & | Belt G 2 M12X100
"U” Bolt 2 9 | Lock Washer @ 6 M12
| Hex Mut 4 M0 | 10 Hex Nut @ 6 M12
flat washer 4 MI0 | 11 | flat washer 10 | M12
; Lock Washer 4 M10
. : ] ' |

Page 1 of 2



- U-bolts go on the chassis rail
(INSTALLATION STEPS) ot Theavahicle:

STEP 1:Check the parts in the box carefully if match above list.

STEP 2:Pls prepare the tools for installation, follow as:14-17. 17-19wrench.

STEP 3:Install the mount bracket on the girder of the cer,and tighten it
with M10 "U”Bolt end M12X100 Boit with bread. .

STEP 4:Install the Grille Guardon the mcurt brecket, and tighten it with
M12X30bolt.

STEP 5:Instellatioh is finished.

Fage 2 of 2

Change the way you and others look at your truck with Black Horse. Choose reliable grille guards and bull bars offered on our website.


https://www.carid.com/black-horse/
https://www.carid.com/grill-guards.html

	bbnijua_Part1

